
ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

การหารเศษสว่น ( เศษสว่นที เหมาะสม )( เศษสว่นไม่
เหมาะสม )

÷ =
8
5

4
7

÷ =
4
6

9
7

÷ =
2
3

3
7

÷ =
8
2

8
4

÷ =
3
1

3
5

÷ =
4
3

6
5

÷ =
6
2

4
1

÷ =
8
1

7
5

÷ =
8
6

9
7

÷ =
3
1

6
5

www.snowmath.com



ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

การหารเศษสว่น ( เศษสว่นที เหมาะสม )( เศษสว่นไม่
เหมาะสม )

÷ =
8
5

4
7

14
5

÷ = = 1
4
6

9
7

14
27

14
13

÷ =
2
3

3
7

14
9

÷ =
8
2

8
4

2
1

÷ =
3
1

3
5

5
1

÷ =
4
3

6
5

10
9

÷ = = 1
6
2

4
1

3
4

3
1

÷ =
8
1

7
5

40
7

÷ =
8
6

9
7

28
27

÷ =
3
1

6
5

5
2

www.snowmath.com


